Y4 — Summer — Block 2 — Step 1 — Write money using decimals Answers

a) 0.23
b) 23p
c) £1or100p

£2.48

There is 4 pounds.
There is 75 pence.
There is £4 and 75p
There is £4.75

a) £4.36
b) £5.94

multiple possible answers, e.g.
£5, £1, 20p, 20p, 5p, 1p

a) £3.20
b) £7.07
c) £10.27

a) possible answers:
5p, 5p, 50p, 50p
10p, 10p, 50p, 50p
10p, 20p, 50p, 50p
20p, 20p, 50p, 50p
20p, 20p, 20p, 50p
b) There are five different combinations.

a) True
e.g. £5, £2, £1, £1, 50p, 50p 10p
b) False
No combination of three coins makes £1.50
c) True
£1, 50p, 50p, 2p
d) True
e.g. £5, £1, 5p, 2p, 2p, 2p
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